	Item ID Number:  30006530

	Directions:  

	Passage or Graphic:  

	Stem:  There are 5 blue bears and 4 red bears. How many bears are there in all?

	Option A. 6

	Option B. 10

	Option C. 9

	Option D. 7

	Option E. 1

	Key:  C

	RIT Range:  165  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 1, #26

	Item Entry Complete:  Y


	Item ID Number:  30006540

	Directions:  

	Passage or Graphic:  

	Stem:  John had 6 balloons. The wind blew away 4 of them. How many balloons does John have now?

	Option A. 1

	Option B. 2

	Option C. 4

	Option D. 10

	Option E. 5

	Key:  B

	RIT Range:  165  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 1, #27

	Item Entry Complete:  Y


	Item ID Number:  30006550

	Directions:  

	Passage or Graphic:  

	Stem:  The children made 45 cupcakes. Someone ate 5 of them. How many cupcakes do they have left?

	Option A. 30

	Option B. 25

	Option C. 50

	Option D. 40

	Option E. 35

	Key:  D

	RIT Range:  170  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 2, #77 ("expected")

	Item Entry Complete:  Y


	Item ID Number:  30006560

	Directions:  

	Passage or Graphic:  
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	Stem:  Which three symbols complete the pattern?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  B

	RIT Range:  180 Goal 7.5.3

	Copyright Information:  

	Idaho Content Alignment:  298.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, #132

	Item Entry Complete:  Y


	Item ID Number:  30006570

	Directions:  

	Passage or Graphic:  

Mary
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	Stem:  Who is in front of Jane?

	Option A. Dave

	Option B. Jo

	Option C. Tom

	Option D. Sue

	Option E. Mary

	Key:  C

	RIT Range:  171  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  298.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  "No match"

	Item Entry Complete:  Y


	Item ID Number:  30006580

	Directions:  

	Passage or Graphic:  

	Stem:  Mark has a half dollar, a quarter, two nickels, and a penny in his pocket. How much money does he have?

	Option A. 81¢

	Option B. 61¢

	Option C. 86¢

	Option D. 78¢

	Option E. 51¢

	Key:  C

	RIT Range:  180 both Goal 4.7

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 2, #108

	Item Entry Complete:  Y


	Item ID Number:  30006590

	Directions:  

	Passage or Graphic:  

	Stem:  Which is taller than a door?

	Option A. a desk

	Option B. a flagpole

	Option C. a flower

	Option D. a trash can

	Option E. a ruler

	Key:  B

	RIT Range:  175  both Goal 4.1.1

	Copyright Information:  

	Idaho Content Alignment:  298.04.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  K, #153

	Item Entry Complete:  Y


	Item ID Number:  30006600

	Directions:  

	Passage or Graphic:  
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	Stem:  How many children ride a bus to school?

	Option A. 5

	Option B. 3

	Option C. 2

	Option D. 6

	Option E. 4

	Key:  D

	RIT Range:  180 both Goal 6.3

	Copyright Information:  

	Idaho Content Alignment:  298.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 2, #163

	Item Entry Complete:  Y


	Item ID Number:  30006610

	Directions:  

	Passage or Graphic: 

	Stem:  What are the missing numbers in this list?   350, 355, 360, 365, ___ , ___ , ___

	Option A. 370, 380, 390

	Option B. 366, 367, 368

	Option C. 375, 385, 395

	Option D. 370, 375, 380

	Option E. 370, 385, 400

	Key:  D

	RIT Range:  180 both  Goal 7.5.2

	Copyright Information:  

	Idaho Content Alignment:  298.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, #172

	Item Entry Complete:  Y


	Item ID Number:  30006620

	Directions:  

	Passage or Graphic:  

	Stem:  You want to make a necklace with 50 beads. There are 10 beads in a package. How many packages do you need to make a necklace?

	Option A. one

	Option B. two

	Option C. three

	Option D. four

	Option E. five

	Key:  E

	RIT Range:  190  1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  "No match"

	Item Entry Complete:  Y


	Item ID Number:  30006630

	Directions:  

	Passage or Graphic:  

	Stem:  There are 8 cows in the field and 3 cows in the barn. How would you find out exactly how many more cows are in the field than in the barn?

	Option A. add

	Option B. subtract

	Option C. multiply

	Option D. divide

	Option E. estimate

	Key:  B

	RIT Range:  190  1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, #241

	Item Entry Complete:  Y


	Item ID Number:  30006640

	Directions:  

	Passage or Graphic:  

	Stem:  Sam bought a baseball for $8 and a mitt for $15. How much did he spend?

	Option A. $7

	Option B. $15

	Option C. $10

	Option D. $8

	Option E. $23

	Key:  E

	RIT Range:  175 calc 181 non Goal 4.7.1

	Copyright Information:  

	Idaho Content Alignment:  298.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 2, #195; Grade 3, #90

	Item Entry Complete:  Y


	Item ID Number:  30006650

	Directions:  

	Passage or Graphic:  
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	Stem:  How many more people chose chocolate than strawberry?

	Option A. 13

	Option B. 5

	Option C. 8

	Option D. 3

	Option E. 2

	Key:  D

	RIT Range:  190 both 6.7

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 2, #163; Grade 3, #206 ("expected")

	Item Entry Complete:  Y


	Item ID Number:  30006660

	Directions:  

	Passage or Graphic:  
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	Stem:  What is the missing number?

	Option A. 8

	Option B. 6

	Option C. 9

	Option D. 7

	Option E. 10

	Key:  A

	RIT Range:  181 calc 187 non Goal 7.6

	Copyright Information:  

	Idaho Content Alignment:  398.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 4, #205

	Item Entry Complete:  Y


	Item ID Number:  30006670

	Directions:  

	Passage or Graphic:  

	Stem:  Paul and his father are flying to Mexico City. It costs $495 for Paul's father's ticket and $328 for his own. How much more does his father's ticket cost?

	Option A. $167

	Option B. $823

	Option C. $216

	Option D. $198

	Option E. $819

	Key:  A

	RIT Range:  190 calc 196 non Goal 4.7.1

	Copyright Information:  

	Idaho Content Alignment:  298.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, #29

	Item Entry Complete:  Y


	Item ID Number:  30006680

	Directions:  

	Passage or Graphic:  

	Stem:  The zoo has 54 parrots. The zookeeper wants to put 9 parrots in each cage. How many cages will the zookeeper need?

	Option A. 6

	Option B. 9

	Option C. 7

	Option D. 4

	Option E. 3

	Key:  A

	RIT Range:  190  1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  8

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 4

	Item Entry Complete:  Y


	Item ID Number:  30006690

	Directions:  

	Passage or Graphic:

	Stem:  Jill and her family are going to the circus. There are 2 adults and 3 children. Adult tickets cost $4.25. What information must Jill have to figure out how much it will cost for her whole family to get into the circus?

	Option A. the number of people in the family

	Option B. how long they plan to stay at the circus

	Option C. the cost of a child's ticket

	Option D. the cost of popcorn

	Option E. how far away they live from the circus

	Key:  C

	RIT Range:  190  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  398.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  9

	Learning Cont. Page #:  1

	Idaho Falls Content Alignment:  Grade 3, #241

	Item Entry Complete:  Y


	Item ID Number:  300030006710

	Directions:  

	Passage or Graphic:  
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	Stem:  Which candy is Mr. Brown's class favorite

	Option A. No one likes mints.

	Option B. They like chocolate.

	Option C. They like chocolate and lollipops equally.

	Option D. They like all of the candies the same.

	Option E. Two children do not like candy.

	Key:  B

	RIT Range:  170   Goal 6.7

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 2, #157, #163; Grade 3, #206

	Item Entry Complete:  Y


	Item ID Number:  30006720

	Directions:  

	Passage or Graphic:  

	Stem:  If Teresa has $5.00 and buys a $3.00 book, how much money will she have left?

	Option A. $8.00

	Option B. $1.00

	Option C. $2.00

	Option D. $5.00

	Option E. $3.00

	Key:  C

	RIT Range:  180  both Goal 4.7.1

	Copyright Information:  

	Idaho Content Alignment:  337.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 3, #131

	Item Entry Complete:  Y


	Item ID Number:  30006730

	Directions:  

	Passage or Graphic:  
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	Stem:  In which 2 months did all the students in Mr. Brown's class wear a coat?

	Option A. April was warmer

	Option B. January and March

	Option C. February and March

	Option D. January and February

	Option E. The coldest months

	Key:  D

	RIT Range:  190  Goal 6.1

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 3, #206

	Item Entry Complete:  Y


	Item ID Number:  30006740

	Directions:  

	Passage or Graphic:  

	Stem:  Tom has 6 less CDs than Marty. If you want to find out the difference between the number of CDs that Tim and Marty have, what operation do the underlined words tell you to do?

	Option A. add

	Option B. subtract

	Option C. multiply

	Option D. divide

	Option E. use a fraction

	Key:  B

	RIT Range:  191  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  #226

	Item Entry Complete:  Y


	Item ID Number:  30006750

	Directions:  

	Passage or Graphic:  

	Stem:  If a movie ticket costs $5.00, how much does it cost for 3 people to go to a movie?

	Option A. $15.00

	Option B. $12.00

	Option C. $8.00

	Option D. $2.00

	Option E. $10.00

	Key:  A

	RIT Range:  191 both Goal 4.7.1

	Copyright Information:  

	Idaho Content Alignment:  338.04.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 3, #90

	Item Entry Complete:  Y


	Item ID Number:  30006760

	Directions:  

	Passage or Graphic:  

	Stem:  If a student is told to return to the library in about 1 hour, and it is 10:01 A.M., about what time should the student return to the library?

	Option A. 10:30 A.M.

	Option B. 11:00 A.M.

	Option C. 10:30 P.M.

	Option D. 11:00 P.M.

	Option E. 10:00 A.M.

	Key:  B

	RIT Range:  190   Goal 4.6.1

	Copyright Information:  

	Idaho Content Alignment:  337.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 5, #116

	Item Entry Complete:  Y


	Item ID Number:  30006770

	Directions:  

	Passage or Graphic:  

	Stem:  10 students will play basketball after school. They ask 5 more students to play with them. If you want to find out how many students will play in all, what method should you use?

	Option A. simplify

	Option B. subtract

	Option C. add

	Option D. multiply

	Option E. divide

	Key:  C

	RIT Range:  191  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #226

	Item Entry Complete:  Y


	Item ID Number:  30006780

	Directions:  

	Passage or Graphic:  

	Stem:  Sam spent $2.00 at the candy store, $1.00 at the hobby shop, and found 50¢ on the way home. He has $2.00 in his pocket now. What is the best problem solving strategy to find out how much money Sam had to begin with?

	Option A. Guess and check

	Option B. Look for a pattern

	Option C. Solve a simpler problem

	Option D. Work backwards

	Option E. Make a model

	Key:  D

	RIT Range:  191  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #217

	Item Entry Complete:  Y


	Item ID Number:  30006790

	Directions:  

	Passage or Graphic:  

	Stem:  Joel needs 20 box tops to get a video game. He has 10 box tops and a friend is giving him 7. How many more will he need before he can get the video game?

	Option A. 37

	Option B. 17

	Option C. 23

	Option D. 10

	Option E. 3

	Key:  E

	RIT Range:  191 Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #226

	Item Entry Complete:  Y


	Item ID Number:  30006800

	Directions:  

	Passage or Graphic:  

	Stem:  The children ate 8 slices of pizza. The pizza was cut into 12 pieces. Which number sentence correctly tells you how many slices were left?

	Option A. 12 - 8 = 4

	Option B. 8 + 12 = 20

	Option C. 8 + 4 = 12

	Option D. 20 - 8 = 12

	Option E. 20 - 4 = 16

	Key:  A

	RIT Range:  185 both  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 3, #194

	Item Entry Complete:  Y


	Item ID Number:  30006810

	Directions:  

	Passage or Graphic:  

	Stem:  Two brothers pick 100 pounds of apples and sell them for $.50 a pound. If they share the money, how much will each brother get?

	Option A. $10.00

	Option B. $25.00

	Option C. $50.00

	Option D. $100.00

	Option E. $5.00

	Key:  B

	RIT Range:  200  Goal 1.3.6

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  8

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 4, #253

	Item Entry Complete:  Y


	Item ID Number:  30006820

	Directions:  

	Passage or Graphic:  
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	Stem:  The table shows the number of pages students read during silent reading time. How many students read 5 or more pages?

	Option A. 17

	Option B. 5

	Option C. 11

	Option D. 6

	Option E. 10

	Key:  C

	RIT Range:  200 both Goal 6.8

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  9

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #171

	Item Entry Complete:  Y


	Item ID Number:  30006830

	Directions:  

	Passage or Graphic:  
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	Stem:  Which ratio represents the number of circles to squares?

	Option A. 
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	Option B. 
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	Option C. 3/10

	Option D. 
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	Option E. 
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	Key:  

	RIT Range:  200  Goal 2.15

	Copyright Information:  

	Idaho Content Alignment:  337.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  10

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  #7

	Item Entry Complete:  Y


	Item ID Number:  30006840

	Directions:  

	Passage or Graphic:  

	Stem:  Trea has 2 sisters. They have all been asked to help their grandmother. Their grandmother has a list of 6 things she needs the girls to do. If each girl does her equal share, how many tasks will Trea do?

	Option A. 1

	Option B. 3

	Option C. 4

	Option D. 6

	Option E. 2

	Key:  E

	RIT Range:  191  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  11

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #226

	Item Entry Complete:  Y


	Item ID Number:  30006850

	Directions:  Estimate the answer.

	Passage or Graphic:  

	Stem:  If there are 10 slices in a pizza, and 23 children want to order enough pizzas so they can each have 2 slices, about how many pizzas should they order?

	Option A. 5

	Option B. 23

	Option C. 10

	Option D. 13

	Option E. 2

	Key:  A

	RIT Range:  201  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  337.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #48

	Item Entry Complete:  Y


	Item ID Number:  30006860

	Directions:  

	Passage or Graphic:  

	Stem:  Trina went to the mall. She bought a sweater for $15.00, a pair of shoes for $25.00 and an ice cream cone for $2.00. How much money did she spend?

	Option A. $32.00

	Option B. $42.00

	Option C. $37.00

	Option D. $47.00

	Option E. $52.00

	Key:  B

	RIT Range:  201 non  195 calc Goal 4.7.1

	Copyright Information:  

	Idaho Content Alignment:  337.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30006870

	Directions:  

	Passage or Graphic:  

	Stem:  What are the prime numbers between 20 and 30?

	Option A. 27, 29

	Option B. 21, 23

	Option C. 23, 29

	Option D. 23, 27

	Option E. 21, 29

	Key:  C

	RIT Range:  201  Goal 2.11

	Copyright Information:  

	Idaho Content Alignment:  337.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 5, #48, #50

	Item Entry Complete:  Y


	Item ID Number:  30006900

	Directions:  

	Passage or Graphic:  

	Stem:  Johnny's shoe laces are 1 foot long. Suzie's shoe laces are 8 inches long. How much longer are Johnny's shoe laces than Suzie's?

	Option A. 2 inches

	Option B. 4 inches

	Option C. 6 inches

	Option D. 8 inches

	Option E. 12 inches

	Key:  B

	RIT Range:  201 both Goal 4.1.1

	Copyright Information:  

	Idaho Content Alignment:  339.01.d

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  Grade 6, #67, #70

	Item Entry Complete:  Y


	Item ID Number:  30006910

	Directions:  

	Passage or Graphic:  

	Stem:  If a car is traveling 60 miles per hour and does not alter speed or make any stops, how long will it take to go 300 miles?

	Option A. 5 hours

	Option B. 6 hours

	Option C. 4 hours

	Option D. 7 hours

	Option E. 3 hours

	Key:  A

	RIT Range:  201  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  2

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30006920

	Directions:  

	Passage or Graphic:  

	Stem:  John has 4 coins totaling 85¢. He has only quarters and dimes. How many dimes does John have?

	Option A. 3

	Option B. 2

	Option C. 1

	Option D. 6

	Option E. 5

	Key:  C

	RIT Range:  201 Goal 4.7.1

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 5, #106

	Item Entry Complete:  Y


	Item ID Number:  30006930

	Directions:  

	Passage or Graphic:  

	Stem:  If it rains 2 inches every 30 days, how much rain would fall in 90 days?

	Option A. 6 inches

	Option B. 30 inches

	Option C. 15 inches

	Option D. 45 inches

	Option E. 3 inches

	Key:  A

	RIT Range:  201  Goal 2.15

	Copyright Information:  

	Idaho Content Alignment:  338.02.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30006940

	Directions:  

	Passage or Graphic:  

	Stem:  Which of these figures has parallel lines?

	Option A. 
[image: image61.png]




	Option B. 
[image: image62.png]




	Option C. 
[image: image63.png]




	Option D. 
[image: image64.png]




	Option E. 
[image: image65.png]




	Key:  C

	RIT Range:  210  Goal 3.2.1

	Copyright Information:  

	Idaho Content Alignment:  341.01.c (geometry)

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6, #112

	Item Entry Complete:  Y


	Item ID Number:  30006950

	Directions:  

	Passage or Graphic:  

	Stem:  40 candy canes come in a box. 10 candy canes were broken. Which operation would you use to find out how many candy canes were not broken?

	Option A. addition  
[image: image66.wmf]+



	Option B. subtraction  
[image: image67.wmf]-



	Option C. multiplication  
[image: image68.wmf]´



	Option D. division  
[image: image69.wmf]¸



	Option E. none of the above

	Key:  B

	RIT Range:  201  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  298.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 3, #241

	Item Entry Complete:  Y


	Item ID Number:  30006960

	Directions:  

	Passage or Graphic:  

[image: image70.png]





	Stem:  Billy starts soccer at 2:45 P.M. He practices for 35 minutes. What time does practice end?

	Option A. 3:15 P.M.

	Option B. 4:00 P.M.

	Option C. 3:15 P.M.

	Option D. 3:20 P.M.

	Option E. 3:30 P.M.

	Key:  D

	RIT Range:  211  Goal 4.6.2

	Copyright Information:  

	Idaho Content Alignment:  338.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 3, 4

	Item Entry Complete:  Y


	Item ID Number:  30006980

	Directions:  

	Passage or Graphic:  

[image: image71.png]¥ ST

20 ft.

‘BoL

20 ft.

The Wongs' Yard

40 ft.

‘BSL






	Stem:  

The Wongs are going to fence their yard. How many feet of fence do they need to buy?



	Option A. 100 feet

	Option B. 110 feet

	Option C. 65 feet

	Option D. 120 feet

	Option E. 130 feet

	Key:  E

	RIT Range:  211 non  205 calc  Goal 4.5.1

	Copyright Information:  

	Idaho Content Alignment:  341.01.e

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6, #88; Grade 5, #68; Grade 3, #135

	Item Entry Complete:  Y


	Item ID Number:  30006990

	Directions:  

	Passage or Graphic:  



[image: image72.wmf]9,767,422,135




	Stem:  What digit is in the one billions place?

	Option A. 8

	Option B. 9

	Option C. 7

	Option D. 4

	Option E. 2

	Key:  B

	RIT Range:  220  Goal 2.6

	Copyright Information:  

	Idaho Content Alignment:  337.01.d

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6

	Item Entry Complete:  N - distractor issues


	Item ID Number:  30007000

	Directions:  

	Passage or Graphic:  

	Stem:  Diana received scores of 100, 63, 80, 85 and 92 on her math tests. What is her mean (average) score?

	Option A. 83

	Option B. 84

	Option C. 85

	Option D. 86

	Option E. 87

	Key:  B

	RIT Range:  211calc 217 non  Goal 5.3.1

	Copyright Information:  

	Idaho Content Alignment:  302.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 5, #96; Grade 6, #176

	Item Entry Complete:  Y


	Item ID Number:  30007010

	Directions:  

	Passage or Graphic:  

	Stem:  There are 60 marbles in a jar. If they are given to 8 children so they each get the same number of marbles, how many will be left over?

	Option A. 52

	Option B. 8

	Option C. 11

	Option D. 4

	Option E. 7

	Key:  D

	RIT Range:  211  Goal 1.1.6

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6, #55; Grade 5, #62; Grade 4, #103

	Item Entry Complete:  Y


	Item ID Number:  30007020

	Directions:  

	Passage or Graphic:  

	Stem:  A jacket marked at $25 is on sale at a 20% discount. What is the sale price?

	Option A. $5.00

	Option B. $30.00

	Option C. $50.00

	Option D. $20.00

	Option E. $45.00

	Key:  D

	RIT Range:  220 non 214 calc  8.2.2

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6

	Item Entry Complete:  Y


	Item ID Number:  30007040

	Directions:  

	Passage or Graphic:  

[image: image73.png]
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	Stem:  If you have tables that seat 6 people each as shown, how many people can you seat if you push two such tables together on the short side?

	Option A. 12

	Option B. 8

	Option C. 6

	Option D. 11

	Option E. 10

	Key:  E

	RIT Range:  211  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.02.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  9

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007050

	Directions:  

	Passage or Graphic:  



[image: image75.wmf]11161611

-+=-




	Stem:  Which property does this equation demonstrate?

	Option A. commutative

	Option B. associative

	Option C. identity

	Option D. distributive

	Option E. zero

	Key:  A

	RIT Range:  220  Goal 7.8.2

	Copyright Information:  

	Idaho Content Alignment:  338.04.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  10

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6-7+

	Item Entry Complete:  Y


	Item ID Number:  30007060

	Directions:  

	Passage or Graphic:  

	Stem:  Which of these is equal to 
[image: image76.wmf]2
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	Option A. 14

	Option B. 120

	Option C. 24

	Option D. 144

	Option E. 72

	Key:  D

	RIT Range:  215  Goal 2.9.3

	Copyright Information:  

	Idaho Content Alignment:  337.02.d, 338.01.d, 338.04.a, 337.02.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  11

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6

	Item Entry Complete:  Y


Change wording
	Item ID Number:  30007070

	Directions:

	Passage or Graphic:  

	Stem:  If a package of 24 pencils costs $2.88, which of these proportions would you use to find out how much one pencil costs?

	Option A. 
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	Option B. 
[image: image78.wmf]124
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	Option C. 
[image: image79.wmf]241
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	Option D. 
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	Option E. 
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	Key:  C

	RIT Range:  220  Goal 2.15

	Copyright Information:  

	Idaho Content Alignment:  338.03.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  12

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007080

	Directions:  

	Passage or Graphic:  



[image: image82.wmf]2971412____




	Stem:  What are the missing numbers?

	Option A. 
[image: image83.wmf]810



	Option B. 
[image: image84.wmf]53



	Option C. 
[image: image85.wmf]57



	Option D. 
[image: image86.wmf]35



	Option E. 
[image: image87.wmf]1719



	Key:  E

	RIT Range:  230  Goal 7.5.2

	Copyright Information:  

	Idaho Content Alignment:  338.02.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 6-7

	Item Entry Complete:  Y


	Item ID Number:  30007100

	Directions:  

	Passage or Graphic:

	Stem:  If four all-weather tires cost $903.80, which of these proportions would you use to find out how much one tire cost?

	Option A. 
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	Option B. 
[image: image89.wmf]1
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	Option C. 
[image: image90.wmf]4
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	Option D. 
[image: image91.wmf]1$903.80
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	Option E. 
[image: image92.wmf]$903.801
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	Key:  A

	RIT Range:  230  Goal 2.15

	Copyright Information:  

	Idaho Content Alignment:  338.03.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007110

	Directions:  

	Passage or Graphic:  

	Stem:  On a winter day it was 
[image: image93.wmf]o
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F at 6 A.M. The temperature rose 
[image: image94.wmf]o
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 during the day. Which of these equations would you use to find the high temperature for that day?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  D

	RIT Range:  230  Goal 8.2.2

	Copyright Information:  

	Idaho Content Alignment:  340.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 7

	Item Entry Complete:  Y


	Item ID Number:  30007120

	Directions:  

	Passage or Graphic:  
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	Stem:  Which of these statements is true?

	Option A. 
[image: image101.wmf]DE

 and 
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 are radii of circle 
[image: image103.wmf]C
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	Option B. 
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 and 
[image: image105.wmf]CD

 are radii of circle 
[image: image106.wmf]C

.

	Option C. 
[image: image107.wmf]DE

 and 
[image: image108.wmf]CD

 are radii of circle 
[image: image109.wmf]C

.

	Option D. 
[image: image110.wmf]FG

 and 
[image: image111.wmf]DE

 are radii of circle 
[image: image112.wmf]C

.

	Option E. 
[image: image113.wmf]DE

 and 
[image: image114.wmf]CG

 are radii of circle 
[image: image115.wmf]C

.

	Key:  B

	RIT Range:  230  Goal 4.4.5

	Copyright Information:  

	Idaho Content Alignment:  341.01.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  3

	Idaho Falls Content Alignment:  Grade 7

	Item Entry Complete:  Y


	Item ID Number:  30007140

	Directions:  

	Passage or Graphic:  

	Stem:  John's 100-meter dash times were: 12.9, 13.2, 10.9, 13.5, 12.0, and 11.8. Which of these is a good estimate of John's average time?

	Option A. 13.0

	Option B. 15.0

	Option C. 12.5

	Option D. 13.5

	Option E. 11.5

	Key:  C

	RIT Range:  221 calc  227 non  Goal 5.3.1

	Copyright Information:  

	Idaho Content Alignment:  337.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007150

	Directions:  

	Passage or Graphic:  

	Stem:  A bag containing 100 marbles contains 23 red, 54 brown, 15 yellow, and 8 orange marbles. Without looking, one marble is removed from the bag. What is the probability that this marble is yellow?

	Option A. 
[image: image116.wmf]23
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	Option B. 
[image: image117.wmf]3
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	Option C. 
[image: image118.wmf]54
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	Option D. 
[image: image119.wmf]46
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	Option E. 
[image: image120.wmf]17
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	Key:  B

	RIT Range:  221  Goal 5.1

	Copyright Information:  

	Idaho Content Alignment:  342.04.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007160

	Directions:  

	Passage or Graphic:  

	Stem:  Which letter in the word "probabilities" would you expect a computer to randomly pick most often?

	Option A. b

	Option B. s

	Option C. i

	Option D. o

	Option E. t

	Key:  C

	RIT Range:  231  Goal 5.1

	Copyright Information:  

	Idaho Content Alignment:  342.05.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007170

	Directions:  

	Passage or Graphic:  

	Stem:  The elevator in the Empire State Building went up 3 floors, down 5 floors, up 2 floors, and down 6 floors. It ended up on the 4th floor. On which floor did it begin?

	Option A. 13th floor

	Option B. 15th floor

	Option C. 8th floor

	Option D. 10th floor

	Option E. 2nd floor

	Key:  D

	RIT Range:  231  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007180

	Directions:  

	Passage or Graphic:  

	Stem:  What is the solution of the equation 
[image: image121.wmf]4x+1=2x-7

?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  C

	RIT Range:  231 Goal 7.1

	Copyright Information:  

	Idaho Content Alignment:  338.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007190

	Directions:  

	Passage or Graphic:  

	Stem:  Lisa is 6 years older than Mary. The sum of their ages is 38 years. Which of these equations correctly represents Mary's age?

	Option A. 
[image: image127.wmf]38
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	Option B. 
[image: image128.wmf]386
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	Option C. 
[image: image129.wmf]38
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	Option D. 
[image: image130.wmf]2638
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	Option E. 
[image: image131.wmf]638
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	Key:  D

	RIT Range:  231  Goal 8.8

	Copyright Information:  

	Idaho Content Alignment:  338.0.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007200

	Directions:  

	Passage or Graphic:  

	Stem:  Using the interest formula 
[image: image132.wmf]I=prt

, how much interest is earned in two years on $200 at an interest rate of 6%?

	Option A. $6.00

	Option B. $24.00

	Option C. $12.00

	Option D. $2.40

	Option E. $8.00

	Key:  B

	RIT Range:  231calc 237 non Goal 8.2.2

	Copyright Information:  

	Idaho Content Alignment:  338.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007210

	Directions:  

	Passage or Graphic:  



[image: image133.wmf]3,9,27,__,243




	Stem:  What is the missing number in this pattern?

	Option A. 30

	Option B. 36

	Option C. 54

	Option D. 81

	Option E. 124

	Key:  D

	RIT Range:  231 calc 237 non  Goal 7.5.2

	Copyright Information:  

	Idaho Content Alignment:  343.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007220

	Directions:  

	Passage or Graphic:  

	Stem:  The distance from Idaho Falls to Salt Lake measures 25 inches on a map.  The scale on the map is 10 miles per inch.  How far is Salt Lake from Idaho Falls?

	Option A. 250 miles

	Option B. 10 miles

	Option C. 25 miles

	Option D. 1,000 miles

	Option E. 500 miles

	Key:  A

	RIT Range:  220 Goal 8.2.1

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007230

	Directions:  

	Passage or Graphic:  

	Stem:  If Jason mows fifteen lawns, he will have enough money to buy a bicycle. Suppose Jason has mowed twelve lawns. What can you determine?

	Option A. Jason has three halves of the money he needs for his bike.

	Option B. Jason has one and one fourth of the money he needs for his bike.

	Option C. Jason has two thirds of the money he needs for his bike.

	Option D. Jason has four fifths of the money he needs for his bike.

	Option E. Jason has three fourths of the money he needs for his bike.

	Key:  D

	RIT Range:  231 Goal 8.2.2

	Copyright Information:  

	Idaho Content Alignment:  338.02.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  8

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007240

	Directions:  

	Passage or Graphic:  

	Stem:  A $30.00 pair of jeans is discounted 20%. If sales tax is 5%, what will be the final price for the jeans?

	Option A. $25.20

	Option B. $22.80

	Option C. $24.00

	Option D. $28.35

	Option E. $24.20

	Key:  A

	RIT Range:  231 calc 237 non  Goal 8.2.2

	Copyright Information:  

	Idaho Content Alignment:  “None”

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  9

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  “None”

	Item Entry Complete:  Y


	Item ID Number:  30007250

	Directions:  

	Passage or Graphic:  

	Stem:  Which of these is a correct equation for the solution 
[image: image134.wmf]x=5
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	Option A. 
[image: image135.wmf]3419
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	Option B. 2x – 1 = 10

	Option C. 3 – x = 8

	Option D. x + 17 = 12

	Option E. 
[image: image136.wmf]79
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	Key:  A

	RIT Range:  231  Goal 7.1

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  10

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007260

	Directions:  

	Passage or Graphic:  

	Stem:  A store has a sale in which all items are 20% off. Sales tax is 5%. Which expression models the cost C for an item with an original price P?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  A

	RIT Range:  240  Goal 8.8

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  11

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007270

	Directions:  

	Passage or Graphic:  

	Stem:  A student's test scores are 89%, 78%, 84%, and 67%. What percent does the student need on the fifth test to average 81%?

	Option A. 87%

	Option B. 81%

	Option C. 90%

	Option D. 92%

	Option E. 85%

	Key:  A

	RIT Range:  241 non  235 calc  Goal 5.3.1

	Copyright Information:  

	Idaho Content Alignment:  339.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007280

	Directions:  

	Passage or Graphic:  

year

1999

2000

2001

2002

vehicle price

$20,050

$20,700

$21,350

$22,000



	Stem:  If the trend continues, what will be the price of a vehicle in 2008?

	Option A. $25,900

	Option B. $25,250

	Option C. $26,550

	Option D. $24,600

	Option E. $27,150

	Key:  A

	RIT Range:  241 calc  247 non  Goal 7.3.3

	Copyright Information:  

	Idaho Content Alignment:  338.01.c, 348.03.h, dist. #91: 291447

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007290

	Directions:  

	Passage or Graphic:  

	Stem:  Joe earns $11.50/hour for the first 40 hours in the week, time-and-a-half for the next 8 hours and double-time for any additional time. This week Joe worked 52 hours. How much money did Joe earn?

	Option A. $690

	Option B. $598

	Option C. $897

	Option D. $644

	Option E. $828

	Key:  A

	RIT Range:  241 calc 247 non  Goal 8.2.2

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007310

	Directions:  

	Passage or Graphic:
[image: image142.png]
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Figure 1

Figure 2

Figure 3



	Stem:  Following this pattern, how many small triangles would there be in figure 4?

	Option A. 13

	Option B. 14

	Option C. 16

	Option D. 19

	Option E. 23

	Key:  C

	RIT Range:  241  Goal 7.5.3

	Copyright Information:  

	Idaho Content Alignment:  338.04.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  5

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007320

	Directions:  

	Passage or Graphic:  

[image: image145.png]
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Cylinder volume = 
[image: image147.wmf]2
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Sphere volume = 
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	Stem:  What is the ratio of the volume of the sphere to the volume of the cylinder?

	Option A. 9:32

	Option B. 3:8

	Option C. 9:8

	Option D. 1:2

	Option E. 2:1

	Key:  A

	RIT Range:  241 calc 247 non Goal 8.5

	Copyright Information:  

	Idaho Content Alignment:  341.01.f

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  6

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "Dist. 91: 291335"

	Item Entry Complete:  Y


	Item ID Number:  30007330

	Directions:  

	Passage or Graphic:  

[image: image149.png]





	Stem:  Which of these tables correctly identifies the figure on the graph?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  A

	RIT Range:  241  Goal 6.11.7

	Copyright Information:  

	Idaho Content Alignment:  351.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  7

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007340

	Directions:  

	Passage or Graphic:  

	Stem:  Which is the converse of the statement "An equiangular triangle has an angle that measures 
[image: image155.wmf]o
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."

	Option A. If a triangle has an angle that measures 
[image: image156.wmf]60

o

, then it is equiangular.

	Option B. If a triangle is equiangular, then it has an angle that measures 
[image: image157.wmf]60

o

.

	Option C. If a figure is a triangle, then all of its angles measure 
[image: image158.wmf]60

o

.

	Option D. If all of its angles measure 
[image: image159.wmf]60

o

, a triangle is equiangular.

	Option E. If one angle measures 
[image: image160.wmf]60

o

, then the figure is a triangle.

	Key:  A

	RIT Range:  250  Goal 3.10.2

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  8

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "Dist. 91: 291409"

	Item Entry Complete:  Y


	Item ID Number:  30007350

	Directions:  

	Passage or Graphic:  

	Stem:  Which of these would be an appropriate unit of measurement for the speed of filling a swimming pool?

	Option A. cubic feet per hour

	Option B. square feet per hour

	Option C. gallons per cubic foot

	Option D. gallons per square foot

	Option E. feet per gallon per hour

	Key:  A

	RIT Range:  241  Goal 4.10.2

	Copyright Information:  

	Idaho Content Alignment:  338.04.c

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  9

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007360

	Directions:  

	Passage or Graphic:  

[image: image161.png]15







	Stem:  Given a square of side 1.5 enclosed in a larger square as shown in the diagram, what is the ration of the side of the larger square to its area?

	Option A. 
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	Option B. 
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	Option C. 
[image: image164.wmf]2
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	Option D. 
[image: image165.wmf]9
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	Option E. 
[image: image166.wmf]3
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	Key:  A

	RIT Range:  255 calc  261 non  Goal 8.5

	Copyright Information:  

	Idaho Content Alignment:  351.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "291332"

	Item Entry Complete:  Y


	Item ID Number:  30007370

	Directions:  

	Passage or Graphic:  

	Stem:  A geometric sequence starts with the terms -2, 6, -18. What is the eighth term of this sequence?

	Option A. 4,374

	Option B. -4,374

	Option C. -1,458

	Option D. -13,122

	Option E. 1,458

	Key:  A

	RIT Range:  260 calc  266 non  Goal 7.5

	Copyright Information:  

	Idaho Content Alignment:  “None”

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  “Pre-Calc 18”

	Item Entry Complete:  Y


	Item ID Number:  30007380

	Directions:  

	Passage or Graphic:  
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	Stem:  Given a rectangle of perimeter 70 as shown in the diagram, what is the ratio of the width to the length of the rectangle?

	Option A. 
[image: image170.wmf]3
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	Option B. 
[image: image171.wmf]11

16



	Option C. 
[image: image172.wmf]4
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	Option D. 
[image: image173.wmf]5
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	Option E. 
[image: image174.wmf]2
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	Key:  A

	RIT Range:  260  Goal 8.5

	Copyright Information:  

	Idaho Content Alignment:  341.01.e

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  4

	Idaho Falls Content Alignment:  "291332"

	Item Entry Complete:  Y


	Item ID Number:  30007390

	Directions:  

	Passage or Graphic:  

	Stem:  The lengths of the sides of a quadrilateral are consecutive even integers. Twice the length of the shortest side plus the length of the longest side is 240 inches. What is the length of the longest side?

	Option A. 84 inches

	Option B. 82 inches

	Option C. 80 inches

	Option D. 86 inches

	Option E. 88 inches

	Key:  A

	RIT Range:  260 calc 266 non  Goal 8.5

	Copyright Information:  

	Idaho Content Alignment:  338.01.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  5

	Idaho Falls Content Alignment:  "Dist. #91: 291332"

	Item Entry Complete:  Y


	Item ID Number:  30007400

	Directions:  

	Passage or Graphic:  

	Stem:  At the beginning of a trip you had a number of quarters. On your first stop, you spent half of them. On your second stop, you spent one third of the remaining quarters. On your third stop, you spent 4 and on your last stop, you spent half of the remaining quarters and then lost 2 more. You have 3 quarters left. How many quarters did you start with?

	Option A. 42

	Option B. 60

	Option C. 40

	Option D. 48

	Option E. 54

	Key:  A

	RIT Range:  260  Goal 8.1

	Copyright Information:  

	Idaho Content Alignment:  338.01.b

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  2

	Learning Cont. Page #:  5

	Idaho Falls Content Alignment:  "None"

	Item Entry Complete:  Y


	Item ID Number:  30007410

	Directions:  

	Passage or Graphic:  

	Stem:  Which of these equations would you use to find the volume of a cone?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  A

	RIT Range:  260  Goal 4.11

	Copyright Information:  

	Idaho Content Alignment:  341.01.f

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  3

	Learning Cont. Page #:  5

	Idaho Falls Content Alignment:  "Dist. 91: 291334"

	Item Entry Complete:  Y


	Item ID Number:  30007420

	Directions:  

	Passage or Graphic:  
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	Stem:  What is the value of the product AB?

	Option A. 
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	Option B. 
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	Option C. 
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	Option D. 
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	Option E. 
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	Key:  A

	RIT Range:  260  8.2.2

	Copyright Information:  

	Idaho Content Alignment:  “None”

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  4

	Learning Cont. Page #:  5

	Idaho Falls Content Alignment:  “291185”

	Item Entry Complete:  Y


	Item ID Number:  30007430

	Directions:  

	Passage or Graphic:  


Test Grades: 86, 78, 82, 70, 90, 76, 94, 84, 70, 80, 80, 70



	Stem:  The teacher told the class the "average" score on the test was 80%. Which of these selections represents measures of a central tendency of 80%?

	Option A. mean and mode only

	Option B. mean only

	Option C. mean, median, and mode

	Option D. mean and median only 

	Option E. mode and median only

	Key:  D

	RIT Range:  270  Goal 5.3

	Copyright Information:  

	Idaho Content Alignment:  342.03.a

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  5

	Idaho Falls Content Alignment:  “Alg 2 – 179”

	Item Entry Complete:  Y


	Item ID Number:  30007440

	Directions:  

	Passage or Graphic:  

Option #1

Option #2

10% discount

20% discount

$2000 rebate

$1000 rebate



	Stem:  You are purchasing a $14,000 car. What is the lowest cash price you could pay for this car?

	Option A. $10,200

	Option B. $10,600

	Option C. $10,000

	Option D. $10,400

	Option E. $10,800

	Key:  A

	RIT Range:  271calc 277 non  Goal 8.2.2

	Copyright Information:  

	Idaho Content Alignment:  "None"

	Learning Cont. Goal:  Problem Solving

	Learning Cont. Subgoal:  

	Learning Cont. Bullet #:  1

	Learning Cont. Page #:  5

	Idaho Falls Content Alignment:  "291479"

	Item Entry Complete:  Y
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